HBRX—Ik2 (A 4RB#HK

THM2F 9/

RECAETIRRA/KE ERKEHRERBESE
RKEFR 9:00

KEABRBERSZE (ERERRKS  BKF B K))
e |KBE E| pH [ZLhV|2EE| ZF (B & =&
A | X&) SE i a4 > io | (e
'cC | ‘c | = mg/l | mg/l | mg/1 | mg/1 | mg/1 | mg/1 | BB
1 [ 2 [ 285] 25.4] 13.9] 7.77 2,937
2 | 2 | 30.3] 24.4] 167| 7.68] 51.0[ 650 266 4.9 594 0.2 370
3 | @ | 27.0] 24.3] 45.3] 7.78 96
4 = | 20.0] 24.5 624] 7.88 795
5 s | 31.0] 25.3] 62.4| 7.84 144
6 s | 28.2] 26.1| 20.6] 7.94 60
7 | 2 | 3000 24.4] 77.4] 7.76 335
8 & | 20.0] 225 421 7.71 1,240
9 = | 28.8] 23.6] 253 7.82 269
10 | 2 | 27.0] 23.5| 107] 7.84 555
11 | i | 28.6] 230 170 7.78 200
12 | & | 27.0] 23.0[ 102] 7.87 122
13 | B | 27.0] 22.5| 71.8] 7.82 92
14 | i | 27.3] 22.7] 53.7] 7.83 68
15 | ®& | 27.0] 23.3] 60.0[ 7.91 65
16 | 2 | 23.9] 22.2] 39.6/ 7.85| 55.0[ 78.0] 178] 5.2 1.72| 0.06 52
17 | i | 26.2] 22.4] 24.5| 7.88 45
18 | 2 | 29.5] 24.0[ 26.3] 7.94 31
19 | 2 | 27.8] 23.9] 18.9] 7.94 35
20 | 2 | 24.0] 23.1] 14.5] 7.99 27
21 | 2 | 23.0] 21.7] 12.1] 8.07 21
22 | s | 25.5| 22.0] 18.6] 8.16 22
23 | 2 | 24.2] 21.4] 13.2] 8.06 25
24 | 2 | 25.8] 21.2] 11.8] 8.07 22
25 | 2 | 25.5] 20.9] 12.2| 8.22 18
26 | @ | 21.0] 20.0] 16.2| 8.00 285
217 | 2 | 21.0] 19.3] 61.4] 7.78 118
28 | ms | 22.0] 21.2] 26.9] 7.90 43
29 | 2 | 220l 21.0] 27.8] 7.84 40
30 | m | 20.9] 19.5/ 16.6] 7.90 22
Ty 26.3| 22.7| 86.8| 7.89] 53.0| 71.5] 222 5.1 3.83] 0.18
55 31.0 26.1] 624] 8.22| 550/ 78.0 266 5.2 5.94 0.29
RIE 20.9| 19.3| 11.8| 7.68| 51.0] 65.0 178 4.9 1.72| 0.06




HBX—Ik2 (A 4R

THM2F 9/

RECAETIRRAKE KEHBRERBRESE (BER%KS)
RKEFR 9:00

KERBHEREREZE (ERFKS Egkit (B2 K ) )
e |(KBE E| opH [PLhv|eEE| ZF |t & =
A | Rk | =R i a4 i |® %
C C E mg/l {mg/l [ mg/l [ mg/l | mg/l mg/|
1 = 28.5] 25.3 2.5 7.53
2 = 30.3] 25.0 2.1 1.271 43.0] 67.0 133 11.6 0.07] <0.02
3 [55] 27.0 24.3 2.3 1.45
4 & 29.0( 24.5 1.8 7.39
5 & 31.01 24.1 2.5 17.56
6 & 28.2( 24.8 2.5 7.44
Ji = 30.0] 24.8 1.9 7.44
8 & 29.0( 23.5 2.1 1.32
9 & 28.8| 22.4 1.9 7.37
10 = 27.0] 23.2 2.8] 17.53
11 & 28.6( 22.9 2.2 1.47
12 & 27.0( 22.6 2.4] 7.58
13 & 27.0( 22.8 2.8 171.59
14 & 27.3| 22.5 2.6/ 7.63
15 & 27.0( 22.3 1.7 7.66
16 = 23.9] 22.5 2.1 7.67] 52.01 75.0 129 6.7 0.06] <0.02
17 i 26.2( 22.2 2.3] 17.69
18 = 29.5] 23.0 2.3 1.76
19 = 27.8] 23.6 2.5 1.57
20 = 24.01 23.2 2.3 1.53
21 = 23.01 22.9 2.6 7.57
22 i 25.51 21.6 2.7 1.55
23 = 24.21 21.0 2.91 7.56
24 = 25.8] 21.0 2.4 17.62
25 = 25.5] 21.3 2.3 1.59
26 [55] 21.0f 20.5 2.8 1.59
27 = 21.0] 19.8 2.2 1.31
28 i 22.01 20.0 3.1 17.49
29 = 22.0] 20.5 3.1 7.48
30 i 20.9( 19.6 3.0 7.52
Eiy 26.3| 22.6 2.4 7.52| 47.5] 71.0 131 9.2 0.07] <0.02
54 31.0] 25.3 3.1 7.76] 52.0/ 75.0 133 11.6 0.07] <0.02
=& 20.9] 19.6 1.7 7.27( 43.0| 67.0 129 6.7 0.06] <0.02




